TEST NO. 208

M.H.R.M. ac 10
Time: T3 Minuotes Max. Marks : 90
PART -A (40 Marks)

il

In a certain code language the word “GENERATION" is coded as “EEAIOGNRETIN™ then how is
“TERMINATION" coded in that language.

(a) EIAIOTEMNTN (b) AETOATEMANTN

() TREMNTNEIATI (d) AEIOTRMNTN

s -!Sﬁ"i‘%u'ﬁﬁ‘ “GENERATION” Somi) “EEATOGNRTN™ re R “TERMINATION" Scrih &
ersie® Dagorr orakth 7

(a) smoebsblodBBas (b) SumpeIfebloIBas

(©) BB Sandbe (d) JepoebsbloSeos

If in & certain code language “Sim min tin” means “Wild animal dangerous™, “min ken pit” means “One
Pet animal™ and “Kim Pin Pit” means “Pet and will”, then how will “Ken™ be coded in that language.
a&ﬁﬁ#@qﬁﬁ‘“ﬁimnﬂuﬁu“w &ﬁa“‘i‘ﬁlﬂmimaldaqgcmus",“miukmpif’ﬁmﬁo “One Pet
animal” 80t “Kim Pin Pit"6 &0 “Pet and will” exjps “Ken” 5 o 5:5% o2 D Diore dotnod?
(a) Pet® (b) Animal (¢} One ' (d) And

H&wclmkmﬂﬂﬁdtdmmmkﬁmmmmﬂudﬁdm radio is called oven, oven is called Grinder and
Grinderis called iron, in what will a lady take for cooking.

(a) Radio (b) Oven (c) Grinder (d) Clock.

wm Ersiepnn BAarr, Shars £35m, mmm@@mnﬁ?
SUR e85 508 SoieDs B0 ABEAGB 7

(a) Bécae ®) £35 - () @ott (d) rBdirso

One day, Ravi left home and cycled 10 km, Southwards, turned right and eycled 5 km and turned right
and cycled 10 km and turned left and cycled 10 km. Hawmanjr kilometres will he have to cycle to reach
him home straight ?

{2} 10Km. | () 15Km (c) 20Em A{d) 25Km.

effer, 5D aof 55 Dod Bfiso BT i D 10 8,0, 0 HARD 80A, 5 £.0r. Pdireo 3B,

BB 800 10 8.0, Plen I [Heirmo 30, 2t P 800 10 £.0». Jegh. ©th obs Phen
ot Btorr DSy I 8.om. Jeyd ?

(2) 1082 {b) 158.20. (c) 208 2o, (d) 2582,
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LA

10.

A man is facing North-West. He tumns $0? in clockwise direction, then 180° in the E“E*l“*hﬂ
diegs vom ond then analtie O0F in cwme divection Which divectinn i< he faring now 2

(2) South (b) South-West (c) West (d) South-Eag

2.8 Elh a55-Shore Shdmys. idirdo 634 edth 07 of° 880, ewmioys 180° o nagm
%008 048 30, by o 8458 90 off ey, w8 Gso D0UE aTyS T

(2) 8o (b) Simo-SEE  (c) BB (d) BEmo-art

Pc:intingmmaiady,qummm,“Eheisdauglumufmcummmisu'nmnﬂmm{‘ﬂmlml:mﬂqu
mother”, Whois the lady to Rajan ?

(2) Aunt {b) Grand daughter (c) Daughter {d) Sister-in-law
LT afdod, el ‘el Sr 80 (et £0 260 ol Eril” e, o valn Sl
(2) =& - (b) Sesoro (c) Eriih {d) a":ﬁa"a

[ Kamal says, “Ravi's mother is the only daughter of my mother”, how is Kamal related to Ravi 7

(2) Grand father (b) Father (c) Brother (d) Uncle.
283 Eibd 6D 8D SrED LT BrOG" woll, K58 508 D%geh ?
(@) esay - (b) dof () Phesciord (d) sk,

Aruna ranks twelth in a class of forty six what will be her rank from the last ?
HeDoth Hob &, Sirirol® el HTEEs Ty’ 4ol D50 ol ud Tuth HEEd Tl

(z) 34 (b) 35 {c) 37 fd_l} 33

If “+' means “+*, " means *X", *+* means *-*, X’ means *+, what will be the value &8
B8+6+4-Tx37

a8 4 wod ‘1, ' woll X, ‘s’ wolf -, N woll 4 af wfio SN :Imé
S4+6-4-Tx3dos ?

(a) 12 ) 14 © -2312 @ -7173

Four persons A, B, C, D are sitting around a square table and discussing their occupations. A sits
opposite to the carpenter and B sits right to the Electrician. The Painter is on the left of Mason, and B
sits opposite to'C. What are the occupations of Cand D 7

(a) Electricianand Mason (b} Painter and Mason
(c) Painferand Carpenter (d) Painter and Electrician,

208A -2



3, 8, B8 Seorlh Sgfen ¥ S oy dixp Moo Bt 0 Higeih Hied SHolhBolyn,
J sThokth ore, § dofheeSH HETOS ST, DR JEH B Dovotd, b &
#P0%ore L drtprmih. B Sich & o G ahHeran ?

(2) deifhonS Sbake D (b) Bomobsth bk b

(c) Dxootxth iHdain ST (d) Txmobth bk Jofhabl
ii. Bistwiceas old asA, but twice younger wuan ¢, C is halfthe age of Abut is twice older than D. Who
. areoldestand youngest ?
B $dbins® A Lol BoloSem DY, ecwd F ol Boliofer D, C Sabily A Saivins® e,
eand D goll Bolloden Diarth. Sabiind® DETr bk dErt 256 ?

() F,C (b) B,D - {c) KD ' (@ EA

. 1f25th July in a parficular year is on a Sunday, then on which day of the week will 25th December in that
- year, fall ? - .

, (8) Sunday (b) Friday (c) Saturday (d) Tuesday.

T oEd6, a8 Bosgos’ eep 263 46 eborto, emd © HoSEes’ 25 & 88 BRoedh 3 Vo
ei300?

(@) wBndo - () Hso (c) ¥nrdo (d) oritzrbo.

. Howmany 0dd days arc there from March 27 to November 14 in a Calendar year ?
el SBotith Hoddtos® Erfy 27 ol SHonth 14 Stide o8 Bk Sogge Terer Sk ?

@2 ®) 1 © 3 (@) 4
. GELO,W,
(@ E . ®) I © G (d) F
. DARK, FXVF, CEQL, GWWE, |
(a) CBON (b) SFLY (c) BCPM C (d) TGLZ
o FelOzzMz
(@) T ®) ¥ @ X (d) §

B
W17. DFG: IMO:: KIE:
(a) WSK (b) UST (€ PRM (@) SUW
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18, Ifthe value of APPLO in that code is 110010, the code for "ORANGE ™ is
APPLO 2035 110010 oced, “ORANGE"™ Densh

(@ 111100 (b) 110011 {c) 101010 (d) 100100
19. 91481
(a) RAHUL (b) RAMY (C) RADHA (d) RAGHU

20. Pick the ODD MAN QUT

(8) Tiger (b) Lion (© Deer (d) Leopard
D&S* BiEd oD roGodel.
(®) %0  (b) Boo (©) ot (d) 0.

Directions for questions 21 to 25: Mquﬁmmmhudnnlhcﬁﬂlmmgﬁbkmmnghw-ﬂ
charges for sending 1 Kg parcel from one city to another.
wpsiden: ma@d1w¢m_m&mﬂmmm%wpﬁp%

PErtorr oB B seipt
r; Al B|lc|p]| =
A | 10| 5 |15 |10
B e | | 7 |25 |20
c o | s} e | 00 N 43
D SR PR I P
E

21. Anwﬂwfﬂhw‘mg.ﬂwwuﬂlbﬂmfwwﬁhgpﬂnd;&m

(@ Ao E (b) BtoD () Eto D (@ CoB
S Sricre gy SOy JoBNE 08 S by SHLO,
(8) Aok ™) B &l D (€ Edol D (d) C %ol B

22. Forsending Parcel from the City C, the least charges will be for the city.

C o ol ¢ Sip piips® D Kol Qo JoSHdy,
() A (b) B © D @ E

208A -4



G -por which of the following will the charges be ditterent from the other three ¥
= apls A0t delof yipen HEmdo HES S ah 6 7

i) A to B (b) A toE () DwE (d) D toB

(e} C (¢) D (d) E

st of sending parcel from City Ato B and then A to Els
S5iico Aol B o 8hard A ol E 5 gy Soiernd edly ptiy)

&) Rs.15 ®) Rs17 () Rs20 @ Rs25.

locked. Different regions of the diagram are Indicated.

5
(5
o

fiHow many children can speak Urduand Hindi only.
B So0din frol SmEd Sripd Dow JoBhe 7
i) 1 )7 (c) 52 @ 12

Urdu Hindi

How many children can speak English only ?

Folicn SeEh Sript bpo Jolit 7

E) 18 (k) 42 © 33 - i

tow many children can speak Hindi 'ﬂndEﬂgﬁﬁhbmnutUlﬁu‘i;

Bl 500 wofis Srtpthe Aty ErziBd bw ot ?

) 42  ® s © 33 .

Hlow many children speak all three languages ?

P geien St Been 0556 7

ia) 7 by 37 (©) 44 (@ 19
208A -5

- for questions 26 - 30: These questions are based on the diagram in which three circles are inter
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30.

How many children can speak Hindi only ?
IOl MBI s Doen Jotih 7

(a) 27 (®) 37 (c) 30 (d) 33

Directions for questions 31 to 40: These questions are to be answered using, the coding and decoding

3l

33.

34.

s,

in the english alphabet s given below.,

The r* letter is shified 10 (27-21)® letter forr= 1,2, 3 - 13 letters. The 14* letter is shifig
26® letlerand forr=15,16,17, ......... , 26 letters. Ther® letters is shifted to (2r
letter. For decoding the inverse process is followed.

B0l migpls Phe B8R Hodm E5%80R Jdke® wofif egBlyd 58Nt
vE efito (27-21) S ool Srgpis, oyl r=1,2,3 - 13. 143 oo 263
Seplsn. Sodm r=15,16,17, ........., 268 efced 7S oo (2r-28) S
EnGlss.

Bol cipls Ghoib L85 Sabbith obfiis SFOR DBoSSH.

In the coding what is the code letters for °S* 7
» eXoeDl ‘S 08 Bobelsn ?

(@) 1 (b)) © L @ N
QTIA is coded by which word ?

QTIA rr 8'8 Sabals Sto 7

(@) MIXE (b) EXIM (€) MIXE. (d) EMIX
Which word is coded as *ELIZCQV* ?

‘EIZCQV" re B*E Jabalss Bfo 7

(2) KITKAT . (b) KITPLY () KINLEY (d) KINDLE

Which word is coded as "AYMINA'7
‘AYMZNA' re 08E Sabols 350 7

(a) MAGNUM (B) MAGNET (¢) MAGICS (d) MAZORS
Which letteriscoded as V ?

V ugiornt 5 Sconls e,

@ F (k) X © Q @ Y

208A -6
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I.EE ra

Which letter is shifted to itselfin the coding 7
5 wido B G40l SrGelss,

(@) 1 b M () N d) X
‘OYZLY" isthe code for ?
*OYZLY' 56
{a) FANTA (b) LIMCA (¢} FUNTO (d) FOREX
What is the code for ‘POTO’
‘POTO rr B°E Sabeldd Bibe 7
(a) BDLD (b) DDLD (¢) BDDL (d) DBLB
What is the code for ‘TENDER” ¢
“TENDER' rr 8°8 Sabalis dto
(2) LQZHZIS (b) LQZSQH {b) LQZSSH (d) LQZHHS
In the coding how many letters are shifted to themselves ?
oty sforen o efrorr £°E Saholad.

. ;
(&) 1 (b) 2 : (c) 3 d 4

PART - B (30 Marks)

The Guarantee provided by the state through its appropriate Agencics against certain risks to which
members of the Society may be exposed.

(2) Economic Security (b Social Security

(¢) Physical Security () Mental Security
Siruce’n O by Pirocoel &EdSor Ty snis oafpe oo b Mied.
(0) wps Ps (b) rotos B8

(c) G5 g (@) Zeahs gins

Putting aside workmen temporarily inan Industrial establishment is known &s

(@) Retenchment (b) Layoff {c) Closure (d) Strike
FBiEins Hogdt eramPlor SUHet BH GoBmRy e Sesirin,
(a) Fohoddo (b) Saf (c) oootiades (d) Ee=b

208A -7 [PT.0]



43

45.

47.

Stav in strike 15 also known as:

(a) Go Slow Strike
{c) Hunger Strike

@onbE® aotierd & Dor o wolrh.

(0) FHE (oS
(¢) &0 oS

Expand LL.O:

(a) Internal Law Organisation
(¢) Indian Labour Organisation
o.o8.2. 5 dIhssobT.

(2) wosgs e sy

(¢) 288 |>E :‘nﬁ

(b) Tools or Pens Down Strike
(d) Work to Rule Strike

(b) e Bor BT TS oot
(d) 5B 68 Gonb

(b) International Labour Organisation
(d) Independent Labour Organisation.

(b) eodpbuh b Bo3
(d) o (Bng Do

The factual Statement of duties and responsibilitics of a Specific Job is known as:

(2) JobAnalysis (b) Jobdesign (¢) Job Decription (d) Job specificat
X FE% ably Db Sbahy oo TES BELSD & Dorr Duoindn.
@) effgidfe (b)) oGyl (o) ool e ORIl

Moving from current Manpower Position to desired Manpower position is known as

(2) Human Resource Planning
(c) Human Resource Development

(b) Human Resource Management
(d) Human Resource Accounting,

(S Eeids 48 Rpow Fol odE FrSSEE fpond Sorl) & Hore eolriin.

(2) s 550 @erlE

(c) =resd S @5%
Executive Searchisa:

(a) Selection Technique

(¢) Training Techniques
FITE HOEES eold &k
(2) 2obs Bloago

(© oo iompo

(d) Hrss B8 Hesis

(b) Recruitment Technique
(d) Motivation Technique

(b) DrSE Jdego
(d) e ispe

208A -8



é}gﬁvﬂﬁﬂﬂf teceiving and welcoming an employes when be first joins a company and giving hir the
?iche needs to settle down quickly and happily and start the work is known as.

Recruitment (b) Performance Appraisal
Induction {d) Placement.

waﬁyﬂmﬁﬁﬂhﬁ“ FDFore e, oshl oSvcas STPEDED iy, ©ih S5,
memm&W aefipo Srpetico, AryiboisoR) & Dore @otrd.
—ja) PairEso (b) Dgrer Bed

B8 solsS (d) o

3t Leonard Nadles () T.-V.Rao

) Katz & Khan (d) Kurtlewin

e ob & riSh efebior E3Ibpnlan.

5 DTl TR (t) &.0.7F

P wgae? (d) ©Rers

': method ofevaluating the behaviour of employees in the work spot is known a8
§)' Performance Appraisal (b) Training |
@ ]nhmralﬁqn (d) JobAnalysis.

Eh gi8406® a6ybo BEID soder Ta BB & doorr ok,

L) More P (b) &g

b} oo mfe S (d) o'y O

§2) Industrial DisputesCouncil (b) Works Commitiee.
c) Manogement Development Programme.  (d) Industrial Conflict Resolulion.

i) Joint Councils (1) Quality Ciircles

Bl Works Committee (d) Joint Management Council
[st,s g S80S UriroBi el Oy HHet H8ybe o,
Blt) Soohd sootity (b) ==ob S

) B2 Hotho () Hoatnl cimasmidy dotid
: : 208A -9 [P.T.O]




53.

55.

The process of examining and evaluating HR policies and procedures is known as

() Human Resource Accounting (b) HR Audit

(¢) Human Resource Planning (¢) Human Resource Development.
=506, doTw, STtent 3888, coXalh domY & Do eotr.
(a) TS B Keesd (b) TrS.05. obf

(c) Fooisd S50 e ds {c) Il S50 edgh

[

(a) DunlopApproach . (b) Sociological Approach

(c) Gandhian Approach (¢) Human Relations Approach.

DOV oEoTres NS SRS 50, CiroioD STRISASD & Do JOPDZY Heod
Smiigol. '

(a) ESD o (b) dras Do

(c) moddh dgrso (c) S Somogre DM

The approach to Industrial Relations views that Industrial relations are based on funday

mmwmmmmeummmmmwm4
party with a view to persuading them amrive at some sort of settlement.

(2) Investigation (b) Mediation

(c¢) Voluntary Arbitration (d) Conciliation.

SOhen, dbaiirio MBS0 HEMber SRS So Mob o8 ParNE 5 adgod' IV
Rt o

(a) Joe (b) - Soegi0850

(©) s Qs (d) POARSS.

The artificial barriers based on attitudinal or organisational bias that prevent qualified individuals il
advancing upward in their organisation into management position is known as

(@) CareerDevelopment (b) Employee Empowerment
(¢) Clanceiling (d) Womenempowerment

DoossDs Sor KIS BEDBo oo SGHES KB otoTw C¥E o Hhed TO R4
P8, diraiirg Rpond's eRdghom AUGoBLY S Do sotr,

(a) ooy ol (b) o) el ds
(c) 75 Hooh () Sobre FOoss

208A -10



petermining the wages on the basis of the amount left after the pavivent of rent, profits and interestto
igod, enirepeenewt, capital respectively ou of productive valte s known as

%.‘;wa,gcfunmww (b) Residual Claimant Theory
(¢) Marginal Productivity Theory (d) The Bargaining theory of wages.
.ﬁﬁmﬁammmmw@mM?

385 0 Bepso (b) 03] HEFLS rhyrid hopodo
o) SrQS8 amyidd hopolo. (d) Sdare Bire bipodo.

following is one of the method of fixing wagesin India.

f2) Jobanalysis (b) Jobdesign (¢) PayCommission - (d) Quality Circles

e 5508 Brot Bt dmedt & Bod 706 288,

oiyiofis () eBiyibe () D ¥hsl (d) b agd

| ofthe folowing s the benefit during old age. o

) Pension () Canteenfacility  (c) Consumer Societies  (d) Holiday Homes
) tos () spdo o () Ao Sofram (d) Do B3 Fode

ol

Trade Union Actof Indiahas been passed in the year.

sy (5 aratS Sho & Sosgiod® &b Savaliob
: "a} 1926 ®) 152 (© 1933 @ 1934
objectofthe_ Actistomakeit clear o both the parties on what terms and mrdtt:ms
o mmaﬁﬂmam“mmﬂmmﬁﬁuﬁuughwm

=1¢) Thelndustrial EmploymentAct, 146 (6) The Industrial Disputes Act, 1947

The Workmen CompensationAct, 1923 (d) The Employees State Insurance Act, 1948.
Sao 60 o Sgole O PAREL B SGHe B0 Jarebotrd, dheied $07 S06E
Gl somotr i Habenad,

_: 2) oy a0y Sbo, 1946 (b) oEdE drcro Sho, 1947

E(c} SO SO0 Sho, 1923 (@) eafyto ogelir So, 1048



62.

The labour resulting in the issue of living child or labour afler 26 weeks of pregnancy l'l.'.'ﬁl.lllinginhi
ofa child whether alive or dead as per the Maternity Benefit Act is known as

(2) Confincment (b) Contribution {c) Matemity Period (d) Benefit Peg
Degd B Jpo evo, d2uY 453 & D Diahed’ o 26 TUre KT
MWH%M&mmuwmgmagmm. 1
(a) Agpso (b) & (c) dgd; seo (d) BTFaS peq

The reward given to the employee as recognition to the loyal continuous service rendered him s,

(a) Gratuity (®) Matemity Benefit ~ (¢) Sicknessbenefit  (d) Pension.
SEgh Deranbl 1BBoBrr, MBS DieobodHomD I ©528 vl e Sbotet ?
(@) riigh (b) S Ed@rato () HE3G AN (d) Bods.

The Act was framed with a view to provide for compensation to workmen incapacitzted bl
injury from accident arising out of and in course of employment. .

(a) The Factorics Act (b) The Employees Standing Orders Act
(c) The Workmen Compensation Act (d) The Industrial Disputes Act.-

5Ty A Poot® SEFEDS SHE (Sirto TUEOM MEIAS oBEHBS Toheh S04
£¥50 BrotbSsns Sko ;

(@) Soyroe Sio (®) oo’ Poloh ofF) Sgo
(c) sgbe BOHS Sho (d) DopdE dzroe Sho.
i Act was framed to provide for suitable measures for the workers health, safety and wi
(2} The Payment of Bonus Act (b) TheFactories Act

(¢) The Employment Exchanges Act (d) The Industrial Disputes Act.
S0ghe 6bro, 1658, Saitho SN dumgy Bho SrodBsas Sho

(@) Muﬁ.ﬂ‘;ﬁ.ugl (b) togroe Suo.

(€) e pds Sho ) o dooe Sho.
Yogaisoncofthe strategy.

(2) CarcersDevelopment Strategy. (b) Stress Reduction Strategy
(c) Recruitment Stratepy (d) Selection Strategy

Err ol o8 Do

(a) E0abb BSehRod po () =85 8ho oo

(c) Dozl Do (d) 2025 9o,

208 A -12



@, The tendency to letthe assessment of single trait influence the evaluation of individual onothertraits is

() Spill over effect (d) Cential Tendency.

ﬂﬁmwmwm@mwwm

(c) *p¥ £56 235 (d) Dobaird Bo2l).

(¢) Elton Mayo (d) Victor Vroom.

©) g5 drar (@) of5 oS,

(b) Productivity
(d) Cross training.

(®) donsss
@ &5 &n

. knownas

(a) Horns effect (t) Halo effect
(8) S 32 () =6 22§

g The person who proposed “Red Hot Stove™ Rule.
(a) Maslow (b) Mc Gregor
(2) S Rf (b) S G
(2) Continuous improvement
(c) Zero Defect
285 (Kaizen) & oo
(a) oBE P5H

B Expand QWL

(1) Quality of worker language
(c) Quantity of work life
s Hope D855 DEBebossn,

(8) =05 ot Peheag®
(c) &5 &8 Bodrmo

PART-C

(b) Quality of work life
(d) Quality of worker- employer life.

®) =Pb oF 5585
(@ Sog-coesrd 408 Fomgs.

(20 Marks)

Riestions 71 10 80: Read the following passages, carcfully and answer the questions given belowit.

To those who do listen, the desert speaks of things with an emphasis quite different from that of the
shorc, the mduntain, the valley or the plains. Where as these invite action and suggest limitless opportu-
nity and exhaustless resources, the implications and the mood of the desert are something different. For
one thing, U desert is conservative, not radical, Itis more likely to provoke awe than 1o invile congquest.
The heroism which it encourages is the heroism of the endurance, not that of conguest. Tt brings man up
#gainst this limitation, tums him in upon himse!fand suggests values which more indulgent regions sup-
press. Sometimes it induces contemplation in men who have never contemplated before. And of all the
answers 10 the question what is a desert good for - ‘Contemplation is perhaps the best.

208A -13
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.

72

73.

74,

73.

76.

77.

In: order 1o receive the desen’s message the beholder needs ro be

(a) Courageous in his reaction (b) Conservative in his responses
(c) Agood listener (d) Sensitive to nature

The desert is unique among landscapes in that it encourages only.

(a) Contemplation (b) Indolence
(c) Heroic endeavour (d) Adventurousspinit.

If one responds with insight to the mood of the desent, it evokes.

(a) Aninclination for deep thought (b) The possibility of unending resources
(c) The desire for heroic conquest (d) Asenseofintense revulsion.

The writer calls the desert “conservative’ rather than “radical’ because it provides an environmenlfilj

(2) Inspircs man to cxplore it (b) Offers unlimited oppoctunity to conquer.
(c) Tesls one’s endurance (d) Noneofthe above

What does the phrase “Tt brings man up against his limitations”, mean ?

(@) Itmakesman feel hopeless about his limitations
(b) If makes tan aware of his limitations,

(c) lf'compels manto fight against his limitations
(d) It Persuades man to overcome his limitations.

to have an idea; we can all guess and sometimes make a lucky guess. Itis quite another thing to pre
a proof of the correetness of that idea. Darwin thought he had that proof in his note books. He siw
all animals had to struggle to survive. Those which were best 2t surviving their environment passed
£ood qualities which helped them to their descendants. This was called “the survival of the fittest’.
example, inacold climate, those who have the warmest fur will live. Darwin believed that this
for an animal to deal with its environment explained the immense variely of creatures.

At the time that Darwin arrived on the scene, the idea of evolution.

(2a) Wasanunheard of idea (b) Hadalready been proved beyond doubt
(¢) Had beenthought of but not proved (d) Was not thought fit for exploration.

According to Darwinian thought, the world of animals is marked by

(a) Peaceful cocxistence (b) Astruggle for Survival
(¢) Indifference towardseachother  (d) Loveand friendship

208A - 14



*ﬂm-sim “the survival of the fittest’ means that.

- crong will survive while the weak will perish
itk strong and the weak will live peacefully.

e strong will help the weak to survive

T —— (b) No animal can survive
Py animals with fur can survive  (d) Animals arc hardto come by

il no effect on animals (b) Has lotof effect on animals
81 amarginal effecton animals ~ (d) Has an effect on man but not on animal.

fident  (b) Confidant (c) Compliment (d) Complement.
writing is
{b) Eligible (¢) Ideal (d) Ildol
igent as well as
ious (b) Industrial (¢) Stare (d) Stair
of this college 15 very strict
meipal (b)) Principle (¢) Impudent (d) Imprudent
ute these Mangoes _ _Five persons.

(b) Between (c) Accept (d) Except.

i hpocrite  (b) Scoundrel (©) Atheist (d) Non-Spiritual.

208 A -15 [P.T.O.]



87.

28.

8.

A person who always looks at the darker side of things.

(@) Cymic b} Pessimist {c) Optimist
A person who does not save money.
(a) Lavish (b) Affluent (c) Spend thrift

Paying great attention to correctness of details.
(a) Punctilious (b) Pugnacity (¢) Purist
A list showing tums of duties.

(a) Recluse  (b) Refugee (¢) Roster

208 A -16

(d) Crook

(d) Uneconomic

(d) Pyrrhic

(d) Renegade.
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